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II. Identify the angles that go with the following types. (give all angles for each type)

5) Corresponding angles L3424, € Y4%) Alternate exterior angles £ 7

L I+46
7) Consecutive interior angles 8) Alternate interior ang]e:?s
L34LS, L24L¥ L3 4L
’ L2445

= |
L L8N

III. Using the figure below, state the transversal that forms each pair of angles. Then identify the special

name for the angle pair.

,
9) s1land £12 transversal = _¥_ special name = /q/tf‘omf-r- Exfm.,r A

1
10) 22and 210 transversal = ¥~ special name = Corresgondliny 37

11)' /4 and £9 transversal = __ 1~ special name = A/‘égm;. te Tatenor

12) #6 and £3 transversal = _f¥1 special name = Altenebe E;Vfr‘@:'/g 1?

13) £14 and £10 transversal = M special name = reSponsdrsn

14) /7 and #13  transversal = ZZ special name = Same Sife Latesior

v

In figure below allb, mz1=78°, and m«£2=47°.

Find measure of each angle. a b
21) 23 < /02 2) s4 = /8% 3 N o/8 /5 2
412/6
23) «5 =78 24) 26 =133 3/2%
1
25) £7 =47 26) «8 =97 10 .
5

27) 29 <133 28) 10 =/o2
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Use the picture above to identify the special name for the angle pairs.

43)
44)
45)
46)
47)
48)

L If

55)
56)
57)
58)
59)
60)
61)
62)
63)
64)
65)
66)
67)
68)
%69)
70)
71)
72)
73)

s2and 26 Altecnate Tntesor 49) /2 and A /.;m._r._f p&:/"

Z1 and 29 Corrc_r.,@m!,-:s 50) ~10 and £14 d{{.gﬂgfa Tznsr
/9and 26 NMone 51) sland 26 29mg S;de Lnfrrier
and A3 _Alemote FExtevier 52) 15 and 211 / RoD
A4 and 216 Corre smﬁ-” 53) s4and A3 Same s;he  Eteror

210 and 16 _Uey l.‘;cc / ﬁq;!‘; 54) £3and Z£11 C re in

m£2="58° and m«£13=111°, then find the missing angle measures. xllm, zlly

ma=_221
mo=_58°
m£3= ¢ i
mzs4=_I[|
ms5=_5 %
mgﬁz_ﬁjl
mii= ég i
msg=5%
ms9 = f!;
mao=_{o ] Ve
mal=_5%
ma2=_1 o

ma3=_MI°

mas-_ 9 m

N
v

i7 16 _
1:/12 7 13~d4 19/18 ”

1/°
i

mAs- 482 S 3
mA6=_8% (16-19 look at line x and m)
mar=_122
mZ18 =_I_8__%
mas=_68 L1Y9 HIG s =r80

69 F 5t S =150



For the given figures, find the value of x and the measure of £1. ~7 2 Sx+Y9
Gem)-7 BT

l©ox-3) (ng:[‘?)-/ R Y72 49
M‘Ll z i}- 7 .y 7 é’/\c s Bl
(6.t:+33)'rl > (Sx+ 49} 5 -
Ay- 3+ Cxt33 =750 iﬁ‘:ﬁ;"") uﬂ:ﬁ;:?’
/SX +%0 =2 /50 ¢ =
/Skz152 Given: [ L n, m 1 n T R SRR L

X2 Prove: £3 and £6 are supplementary

AN P
7
6 1 2 2 \[
3 7
e
< 4/5
< S —
1
v
— Sé“éc"""“’- | Edﬁfwh
DI Ln anf mln D Grven .
LT85y 2) All Reght¢ 2 40 &
’3) / ‘{M 3) Iﬂ Ci!/l‘S,ﬂlhf/"rj Z 'S ]| e ’:-'_:
(.) [3 L('/’"/& /.'nr; st //
1] M tim o 4’,-) Eone Suala Lickevitar 2% wee S"‘P/é/”'""""V
$> bl sS4 L/ 5') (/crl(h.;_/ [3
L) ml3 +mll 2/50 6) Substibution propedy

/

7) ’Z) +£6 F- S Sur’lcmrn/u); 7) pef ap Sh}lp/{mtnltp}, ZJ"



Given: a||b; L||m
Prove: £6= X16

_ mZl=mZ23 A
4. Given:
mLl=m”L?2 D21 2%
Prove: mZ3=m/4 5 / \C
Séa{twun f' Lﬂ,:qsd_ "
1) mll =ml3 1) Groen
- # 7 %S = ~ nes sre b
Mf_f M"i 2) rf (,,,;5/,,.._,6-.3 25 T Cln [ao /.
2) DE Il B¢ . 3% 2
or7cC ngl s S5 —-.
3)L2zLT 3) Corrcsponding

L;) L3547

y) S bstrtutrn 1727



A

5.Given: Z1& Z4 are supplementary

qllr . g
Prove: pllg 7 \
< 4 _
S‘éb‘l—‘n'" ¢ Resse— \ 7
i‘)&a‘ + LY cre ifffcmnﬁfy j) Liwtn
Z” r ~
2) F”r .2) I—A _ngp-S.'d(& I..-.f‘tn‘.:/ é?s afe =—.
¢z y) Db of Smp/o/fmf*"”f £ s
3) jnéi-kmd /5o y gl Lk 2% e 5‘?’/,,.,../,.7
y) mi3tmé? =150 ) Dame #
5) mcl tml Y =ml 3 tmlY 5) Scbstitution Peopei Ty
) Sebtraction ’ﬂ"’f"""‘{f
6) mll = &3 ’ .,
7) I'p CoffCSf?anzé'nJ L5 arc & ,.'
7) lei /,'n::s & & /K
7 bis —> bc'scaf‘.s'{- Y, D
PRl s Ly ceton
Given: ACD, CE bis XDCB
CE || AB k
Prove: XA =4B
P ro Of Alath Bisegom
A © B
Séa.-ltdmm'r I ﬂﬂasrn o
') é?}.f j—l’.": l) Griven
CE bueets LDCB

2) Definition OF LBiseclor

2N LyELa ; N
3) L1 B LA 3 ébf"d‘f’ph.//ﬂb S5 d-r::- o
L/) 4'2 g éd ('/) Iq/&‘ifﬁefz fh'ﬁ'.r,}/ L5 are 7

$) Scbstituton propecly

s)LASLO






